1. Find the measure of one interior angle of the regular polygon. Round to the nearest tenth if
necessary. q —<ides
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2. Find the measure of one exterior angle of a regular 27-gon. Round your answer to the nearest

tenth if necessary. 2 e




3. The London Eye is a famous Ferris Wheel in London. The car at each vertex of a Ferris Wheel
holds a maximum of twenty-five people. The sum of the interior angles of the Ferris Wheel is
11160°. How many cars are on the Ferris Wheel? How many people can ride on the Ferris
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4. Find the length of the midsegment of the trapezoid. "
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5. Find the measure of the variables.
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6. Find the length of BD. Show your thinking.
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Solve for x. | D12 2o = 150
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Solve for x. Each figure is a parallelogram.
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Solve for x. Each figure is a parallelogram.
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LMNO s aparallelogram. If VM= x+ 5 and OL =2x + 3, find the value of x and then find NAM/and OL.
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In rectangle KLMN, KM= 10x + 24 and LN =64. Find the value of x.

K L Km=1rn

loxy24 =04
lox = Yo
X= 4

N M



What is XZ? The diagram is not to scale.
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Figure 4BCD1is asquare. If 4C+ BD = 56, what is the area, in square units, of A 4XD?
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In quadrilateral ABCD, mZACD = 2x +4 and mZACB = 5x — 8. For what value of xis ABCD arhombus?
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Classify Quadrilateral ABCD as a parallelogram, rectangle@, square, kite, or trapezoid.
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